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Least Common Multiple (LCM)/ eT&[dH AT

LCM([a,b,c] is the smallest number which is
completely divisible by [a,b,c]

LCM[a,b,c] 98 HEH BIET HEAT § S [a,b,c] GaRT
T R ¥ T &l
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Least Common Multiple (LCM)/ eT&[dH AT

* Multiple Method (3[0TsT fafer)

» Division Method ( 9T Tafer)

* Prime factorization Method (3THTST
urerEs fafer )

* Deficiency w.r.t. Highest Number (3TIdH

TEAT & |I9eT FHH)
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Question: Answer

< Find the smallest number which is completely divisible by [a,b,c] **LCM[a,b,c]
I8 DI FEIT AT FX ST QU TRE H [a, b, ¢] SaRT AT &

L)

<&

** Find the smallest number which is divided by [a,b,c] and leaves  « | cMm[a,b,c] + R
remainder R in each case.

I8 BIET FE&IT AT HITAT I [a, b, c] garT fnfara &

L)

3R G ATHS 7 AT R & | Case 1: Difference same
% Find the smallest number which is divided by [a,b,c] and leaves  * III_:CaI\-/Ix[: :Z]= CD 2

remainder[x,y,z] respectively. 58 I &A1 AT FITAT A [a, b,
c] GaRT TAHTTSIT § 3R HAM: AW [x,y, 2] Iod &

Case 2: Difference differ
@ IFa-x #b-y # c-z
Chinese theorem
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Find the least perfect square
number which is completely
divisible by 56, 60, 84 and 967

dg DICT T SIeT g9 &AT AT he ST
56, 60, 84 37X 96 GIRT U T &

yaTST g7
2)940800
01:00 o
€)529200

») d)705600
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The number between 22000 and
23000 that is divisible by each of
12,18,21 and 327

22000 31X 23000 & T 98 9&aT St
12, 18, 21 3R 32 O QAT &I ?

0)22536
C)22032
d)22276
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The least number of 5- digits

which exactly divided by 52,56,78
and 917

5 37eh! chT HeH SIET HE&AT ST
52,56,78 3R 91 & qUI: fasT= &

2)10290

m 0)10860

» ©)10920
d)10580
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Find the greatest number of five
digits which when divided by 3, 5,
8, 12 leaves 2 as remainder?

9T 37eh! T HaW d31 F&AT AT
HfaT A1 3, 5, 8, 12 ¥ fasnfard w1
W2 AY AT 82

(a) 99999

m (b) 99948

» (c) 99962
(d) 99722
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The greatest number of six digits
which gives remainder 10 when
divided by 36,48,54,60 and 90 is:

6 31! HY FIW I3 FEAT F41 8, A
36,48,54,60 3T 90 |/ HTT g W
YAF RUfa 7 10 AW qaaT§ ?

) 2)997930
m 0)997240
£)997910

d)999908
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Let N is the least number of six digits
which when divided by 4, 6, 10, 15
leaves In each case same remainder 2.
The sum of digits in N Is:

AT TorT S R 6 37ehT T I8 ~TTdH T
N & | TS 4,6,10 TUT 15 & HET &oT T
W@ﬁﬁz&hm%ﬁm%aﬁ

AT JIT AT U ?
(a) 3
01:00 » (b) 5
(c) 4

(d) 6



Ny 7Y 222420 SSC 2022 | CGL | CHSL | CPO | @ M at 06:30 PM %

The least number of 5-digits which is
divisible by 45,60,75 and 120 when it is
added to 119?

qTe 37 T Fad SIET &4 471 8 forwat
Ife 119 Sz e STe &Y urea g
45,60,75 31T 120 ¥ T 7t fasnfare gt 2

2)10800

01:00  b) 10661

c) 10321
d)10941
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The least number, which when divided
by 4, 5 and 6 |leaves remainder 1, 2 and 3
respectively, Is:

98 S &, S a4, 536 @

fanfora frar SmaT &, warer: 1, 2 3R 3 AW

WA 87

m] W (a) 57
(b) 59
(c) 61
(d) 63
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